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If one betroths with his portion, she is not betrothed

Overview

The f1wn teaches if a 1712 is W7pPn a woman by giving her his portion of a 127p, she is
not nNwTPn. Our MoIN explains the difference between this and other non-tangible
gifts.

nvoINn asks:
- IUNPNT (4,30 9710p%) HIVIYY TOUY 92IRY NI IY WTPHNM $I) 9 IIND ON)

And if you will say; is this worse than one who is w7P» a woman by stipulating

that, ‘I will speak on your behalf to the ruler’, where she is nwpn -
- NN NY NYYY NON 20195 1Y 1N XDV 29 DY 9N

Even though he gave her nothing tangible, but rather gave her a benefit, so here
too he gave her nX17, for she can either eat it (if it is 0°%p 2°w7p) or give this portion to whichever
1110 she wishes.

NID0IN answers:
= 310999 NY 1N IDIND 21 199299 99V DIVIY DI DNNT T NIT MY YN

And one can say; that the two cases are not similar, for there (by 5w% 759 127X),

he can charge money for his speaking, so it is like he is giving her a 7uv7p -
= NN 1193 PN RNT VYN NN NNIN NAIVH XON YaN

However here (by 17712 wipni7) the benefit of the pleasure that she receives is not

from him, for it is /723 y7n -
- 59 AUPY ANINM 1NN NPOY 19 1IN)

And he cannot take money from the benefit that he gave her.

The following is the view of the 0°1w> nMd0IN on this subject:

! She needs a favor from the government, and he is providing for her this favor, so she received a benefit on account
of his speaking to the government.

2 moon assumes now that she is nwTpn with the favor she received from the government, even though he did not do
her the favor, but since he caused that she should have this favor she is nwTpn, similarly here, even though when she
receives his portion he is not giving her anything of his own, for the o°w7p are m2a3 jn (it belongs to Hashem),
nevertheless since she received a benefit through him, she should be nwmpa.

3 She is nwMpn, not because she received a favor from the government, but rather since he gave her a service for free,
for which he can charge, she is nwTp» by his waiving the fee. She received something of value from him.

4 The 1713, when eating 0°w7p, is like a guest at the table of Hashem. He may eat it but it does not belong to him.

3> A 175 cannot sell his portion of 2°w7p and (even) if he sells it, the buyer is not obligated to pay him. Therefore even
though she receives a benefit, however it is not from him, therefore she is not nw7pn, for he gave her nothing of his.
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[Even though there is a ;70199 M in his portion, for he can sell it to a 775 -
— TR TIPN TIN I3 100 NUTL 2155 29 Doy
Nevertheless since it is 7723 )%, she is not h2 7Ty -
(2032 MpoIn Spwdwd 1oy 37N N1 BYY WTAD)
And it is not similar to the case of w525 7% 9298. The above was from 3''n.]

Summary
One can be w7pn with a service which he provides (since there is a fee for the

service), however one cannot be wpn with 2°w7p, since they are 123 1nn, he is not
giving her anything of his own.

Thinking it over
1. What would be the ruling if he is w7pn her (not with the ow7p per se, but) with
the 78371 that she is receiving from him by giving her the wp?°

2. If aman is w71 a woman with an object that is not worth a w179 for him, but is
worth a 7v179 for her, is she nwTIPH or not?!°

¢ The >"n (seemingly) argues with M50I1n and maintains that a 375 may sell his portion of 2>w7Tp, but nevertheless she
is not nwTpn. Others maintain that the *"1n does not mean that he can actually sell it, but rather if someone will want
his portion, he can ask them for money in exchange.

7 He is w1pn her with the 0°w7p which do not belong to him, they are 723 771 (so even though he may sell them, but
as of now they are o°w7p and mM23 jn).

8 There he is w7pn her with his service which he is providing (and for which he can charge money), not with the benefit
she receives from the 1105w.

® See mwn N1 and TMoNA WM R # 51-3.

10'See 71707 *won 1N # 60-64.
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